
 
 

VÝPIS  REZIVA 
 
 

VäZNÍK  Va3  -  2 ks 
 
ozn. 
 

popis       ks       dl/m       Σ  m3 

1 Horný pás 2 x 30/180 1 7,00 0,076 

2 Horný pás 2 x 30/180 1 8,00 0,086 

3 Dolný pás 2 x 30/180 1 8,00 0,086 

4 Dolný pás 2 x 30/180 1 7,00 0,076 

5 Zvislica 50/140 2 2,65 0,037 

6 Zvislica 50/100  7 2,65 0,093 

7 Diagonála 50/140 4 3,40 0,095 

     

 Väzník Va3 - 1 ks =   0,549 m3 

     

     

     

     

 Väzník Va3 - 1 ks  x  2 ks =   1,098 m3 

     

     

     

     

     

     

     

     

     

     

     

     

     

     

     

     

     

     

     

     

     

     

     

     

     

 
REZIVO  SI 
DĹŽKY  PRÚTOV  NIE  SÚ  PRESNÉ. 


